H & 0l & AHS B Ml A

AN SRS
M SAESE)|HY
el 7RSI|"2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SRS 8,916,087 14,463,505 A\b,547,418
= 732,935
== 751,935
[Ea 7,431,217
SHNERSIIELE 896,057 1,319,077 A423,020
= 63,300
< 3,750
= 829,007
maJl2lzel 740,257 746,002 Ab,745
st RSI12 25t 37,700 44,400 26,700
201 er23 | 28,860 34,000 25,140
01 At2teltl 28,860 34,000 A5,140
osS4itE 228 JIEE M
10,0002 %2, 550H 25,500
o S EEE eSSt
8,000 x4 »105&! 3,360
202 04| 5,440 6,400 A960
01 =LHO LI 5,440 6,400 A960
oREI|HYD XX
20,0002 4 »682 5,440
203 HR=H| 3,400 4,000 A600
03 A= LR F&IH| 3,400 4,000 2600
omS0PIE g% =4
850,000 *4= | 3,400
=8 NAA E52AE X3 300,000 300,000 0
402 2I2FX=201H 300,000 300,000
01 IR SASE X (XHMITHR) 300,000 300,000
os8 XA E5AE N
300,000,000 300,000
sitE SSE-dE ZE XA 300,000 300,000 0
307 elztol & 300,000 300,000
02 2B HAIAE & 300,000 300,000
ozttt STE™ME ZHM A&
1,000& *600,0000H*50f% 300,000
SENEHSHA AIHFAE 2 102,557 101,602 955
101 21AH| 102,557 101,602 955
04 JIZtN2Z2XNSE= 102,557 101,602 955
o ANHFEE AIR2E Q12|
3,000,000& ~12& 36,000
SAIHFRICH AFRR Q1214H|
2,451,570« 128 29,419
o4l 2= 65,418,840 *12% 7,851
SIIZEHZ2Z2 A exteg & RS
5,200,000& »2H 10,400
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AN SRS
M SAESE)|HY
el 7RSI|"2e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SANYENG AR2Y AFRREY
14,35421%1 5HH*30AI 2H» 128 7,752
SARUETE AP omAR A
11,7302 %158 %30A1 2+ 123 6,335
o= 0l 20,0003 x2&H*10€ 128 4,800
=2l 155,800 573,075 A4T7,275
= 63,300
== 3,750
o 88,750
=2l 63,300 48,000 15,300
= 63,300
201 eer23y| 4,800 6,200 1,400
= 4,800
01 At22t2lt] 4,800 6,200 21,400
SHRYR Y A2E P
500,000 85 4,000
= 4,000
o= M2t E8 200,000 42 800
= 800
202 04| 1,500 1,800 A300
= 1,500
01 =LHOHI 1,500 1,800 A300
o=zl K& 20,0003 x3& 25 1,500
= 1,500
206 MH=Hl 57,000 40,000 17,000
= 57,000
01 =l 57,000 40,000 17,000
oHSUAR TATY K
57,000,000& *13] 57,000
= 57,000
gy S22 4ENE XNE 24,000 14,400 9,600
< 3,600
= 20,400
307 elztol & 24,000 14,400 9,600
= 3,600
= 20,400
02 2B YAIHE X 24,000 14,400 9,600
orBAN BEE MENR X
3,000 8,000H 24,000
= 3,600
o 20,400
gl B0 22 EHEHH X1 1,000 1,875 AB75
< 150
T 850
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AN SRS
M SAESE)|HYS
chel: Rz CERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 1,000 1,875 AB75
= 150
= 850
02 2IZHBYAIHE X 1,000 1,875 AB75
oM HMTIH Sy eyl X
2,000 +50021 1,000
=S 150
s 850
& 82 & us Xd 12,000 60,000 48,000
307 212+01& 12,000 60,000 /48,000
02 2B HAHE L 12,000 60,000 /48,000
on 282 2 BE X8
3,000 *4,000H 12,000
SSHIE0= ER/EE NS 34,000 40,000 26,000
402 2IZtA=01d 34,000 40,000 26,000
03 2IZ+RAETAIE I 34,000 40,000 26,000
oxsHIF0= ENEYM XNH
10,0003 +6, 80000 *50% 34,000
=% M= 284 X2 2,500 3,000 A500
201 2= 2,500 3,000 A500
01 At22t2lt] 2,500 3,000 A500
oEH M= 84l XN¥ 2,500,000& 2,500
NSE S ¥ RS 2435t 19,000 19,000
201 er23 | 19,000 19,000
01 At2teltl 19,000 19,000
o305 SeHEs AT CIAHR! 2l
19,000,000 19,000
sttersacl 1,138,043 1,239,722 101,679
= 38,431
=S 103,041
s 996,571
StERS |4 665,693 687,150 N21,457
= 38,431
= 41,436
[Ea 585,826
SHERS 2 & A X 490,782 470,400 20,382
201 fet= 3| 165,542 293,000 A127,458
01 AtR2t2|HI 90,542 218,000 127,458
oStttz g2= M
1,000& %21, 2500H 21,250
oXJe] AL 2E 7Y 5,150,000 5,180
oX el AL EEE WE
500& %25, 5000H 12,750
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AN SRS
3N st=RS2
el SttERsS |4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oddz 2ctladE &E &3 HOIX Al
= 8,000,000& 8,000
o¥dgT =22lAdgE OME 2224
40,000,000& 40,000
oA AR FA SEH|
8,000 »4E »106& 3,392
03 Ar=EHI 75,000 75,000 0
ox=E4M2 2 2Eetel A AL
2,500, 000& 302 75,000
202 048l 5,440 6,400 2960
01 2L AL 5,440 6,400 A960
RN AR =7
20,0003 x4 68! 5,440
301 2P EN= 156,800 168,000 1,200
11 dALEEIXIE S 6.800 8,000 A1,200
osSitE A I AHl2d
170,0002 x4Z %103 6,800
14 DBt 2 a3 150,000 150,000 0
oxz4tE A Del bl X1
150,000,000 150,000
307 21201 & 3,000 3,000
06 28= 3,000 3,000
oXHHEE AL 2EIIUHI
3,000,000& 3,000
308 XXM SOIH 160,000 160,000
18 SIS0t oA AS A 160,000 160,000
ozS4tE S2(HSH )
1,000, 0002 *20CH 52 100,000
odgT =2cladE 23|
60,000,000& 60,000
sttE 22kl B0H =0 19,200 19,200 0
< 6,000
s 13,200
307 glztol & 19,200 19,200 0
= 6,000
= 13,200
02 2IZHBYAIHE & 19,200 19,200 0
ositE 2t Tl 2l XA
8,000, 0002 *37H 2= +80% 19,200
=S 6,000
s 13,200
GPRIE ME =5 X 10,000 11,400 1,400
== 2,500
= 7,500
301 EtE NS 10,000 11,400 21,400
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AN SRS
3N st=RS2
el sttERS 54 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,500
s 7,500
14 IIEt2 8= 10,000 11,400 1,400
SGPRIE ME $42 XE
100,000& %1002 10,000
= 2,500
Ea 7,500
P ety EAXIE 23,200 23,000 200
= 11,600
= 3,480
Ea 8,120
301 LEetE N = 23,200 23,000 200
= 11,600
= 3,480
= 8,120
14 IIEt2d3 23,200 23,000 200
oGAP OtA Y ZAHEl XIE
200,000& *1162 23,200
= 11,600
< 3,480
= 8,120
SSHEH(s42 SSHEH| XI2AY) 53,661 123,150 269,489
= 26,831
& 5,366
= 21,464
307 glztol & 53,661 123,150 69,489
= 26,831
< 5,366
[Ea 21,464
02 LB HANHEE 53,661 123,150 69,489
osdE ISEGH HUAA(SSHEDI)
107,322,000 *50% 53,661
= 26,831
== 5,366
o 21,464
vV EaAE ST XA 12,000 10,000 2,000
= 6,000
= 6,000
307 elztol & 12,000 10,000 2,000
= 6,000
Ea 6,000
02 2IZHBYAIHE £ 12,000 10,000 2,000
olVaid YsTil N3
12,000,000& *12] 12,000
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2A:
X XH -
o e

=aak

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

HoH W

1

135,665
255,562

,995,734

MW

1

,414,481

135,665
179,068

,099,748

1,247,481

167,000

SHHUX OIESSSAIL(HUXIEZAIE)

Mo W

202,577
92,080
11,050
99,447

144,967

57,610

402 SIZERHE0| M

HoH W

202,577
92,080
11,050
99,447

144,967

57,610

02 QIR 2 A E X (0IETHR)

osAUUX 0I8SEsHUIUXIZEZAIL)

368,321,000 #55%

H H W

202,577

202,577
92,080
11,050
99,447

144,967

57,610

A0 Sz X2

H H W

65,457
29,753

3,570
32,134

82,614

A17,157

A= 0l

i

r
i

o
N

402

HoH W

65,457
29,753

3,570
32,134

82,614

A17,157

02 QI K2 AIS 2R (OIETHE)

o AL St 65,457,000

MW

65,457
65,457
29,753

3,570
32,134

82,614

A17,157

M

143,000
42,900
100,100

156,700

13,700

402 QI+ X201 H

:

A H

143,000
42,900
100,100

156,700

213,700

286,000,000 *50%

143,000

143,000

156,700

13,700
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AN SRS
B o)A Z YY)
ol Masy (ehol:®el)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 42,900
s 100,100
HUSH NZA 360,000 400,000 240,000
402 212+ X+=01 & 360,000 400,000 240,000
01 RIZENF 2 AL E (XM THR) 360,000 400,000 40,000
CRSEHRS LM s2A N
20,000, 0002 *200H 2= +50% 200,000
CHUSHER RHAIL X
8,000,000 *40IH 2= %50f% 160,000
SNs 2" ofRA X 40,000 40,000
402 QI”F X201 & 40,000 40,000
01 QIZEXHE2 AL 2 (KT ) 40,000 40,000
ogMs AgoRA XA
4,000,000& *20S*50% 40,000
o= AN ol JZH N 20,160 2,340 17,820
=S 6,048
s 14,112
307 21201 & 20,160 2,340 17,820
< 6,048
[Ea 14,112
02 2B HAHE L 20,160 2,340 17,820
SRIRS HREG HZH X2
40,320,000 *50% 20,160
= 6,048
= 14,112
2o 2 XA 90,000 105,000 15,000
402 2IZtA=01A 90,000 105,000 15,000
01 QI XHE AL 2 (KEHITH) 90,000 105,000 A15,000
CHMUI (A ) N
180,000,000 #50% 90,000
LI MAAIZSE S K3 (HEALY) 151,500 102,000 49,500
& 45,450
= 106,050
402 QI”F X201 & 151,500 102,000 49,500
= 45,450
o 106,050
02 QIEN2AILEZ(0IETHR) 151,500 102,000 49,500
oZJ| datAIZB et X2
303,000, 0002 *50% 151,500
=S 45,450
s 106,050
MEHA =sH2t&sH(H0I2-Xt) X 26,724 76,160 A\49,436
< 6,681
s 20,043
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2A: sdRSH
S R0 AP S 25}
Celr HASH EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 26,724 76,160 AN49,436
& 6,681
= 20,043
02 QIZHBAAIE E X 26,724 76,160 AN49,436
oMEtA sHEHSHHI0IL-Xt) XA
66,810,000 *40% 26,724
T 6,681
= 20,043
CEZE MEodd A sIM K& 7,133 10,200 A3,067
= 2,140
= 4,993
307 2I2+01A 7,133 10,200 A3,067
& 2,140
= 4,993
02 QIZHBAAIEE R 7,133 10,200 A3,067
CLEHAY MY LE SAH X
7,133,000& 7,133
T 2,140
[ 4,993
AW ZO0F &7+ S=SEX X2 7,500 37,500 30,000
= 2,250
= 5,250
402 QI2H X201 ™ 7,500 37,500 230,000
& 2,250
= 5,250
02 QIZEXHEAIZ 2 (01 TH ) 7,500 37,500 A30,000
oRNZO0l a2 BSEX X
15,000, 0002 *50% 7,500
& 2,250
[ 5,250
IFE 2Osd 50,000 50,000 0
307 QIZ2t01A 50,000 50,000
02 QIZHBAAIEER 50,000 50,000
cNEE YIEd K&
100, 000,000 *50% 50,000
D =SFE MAE XA 40,000 0 40,000
307 212+01 A 40,000 40,000
02 QIZtBAAIE E R 40,000 40,000
o) BERE AEXA
80,000,000 *50% 40,000
Sas ADEE JIBtE S ALY 180,000 0 180,000
T 54,000
= 126,000
402 QIZ2+Xt=01H: 180,000 0 180,000
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AN SRS
B A0
ool TASA (ehol:®el)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 54,000
s 126,000
02 QI X2 AL EE(0IETHE) 180,000 0 180,000
ozas AEYE JlEtxY
300,000, 000& *60% 180,000
= 54,000
Ea 126,000
AL ICTESE SAAY 30,430 0 30,430
= 13,832
= 4,979
Ea 11,619
402 2IZtA=01d 30,430 0 30,430
= 13,832
= 4,979
= 11,619
02 QI X2 AL EE(0IHTHE) 30,430 0 30,430
o AEJ0 ICT S5 et
55,327,000& 55% 30,430
= 13,832
S 4,979
= 11,619
o 54 972,480 2,928,797 1,956,317
= 76,494
o 895,986
NEItset t+=Fd 512,500 750,000 A237,500
307 @120l & 42,500 50,000 AT7,500
02 QB HANEEX 42,500 50,000 AT7,500
oALHE BIAHEE XIE
125,000 +680Z+50% 42,500
402 QI2F X201 & 470,000 700,000 A.230,000
01 QI X2 AL E A (KHMITHE) 470,000 700,000 A230,000
ot HAxd & WAL X2
34,000, 000:& *5ha*50% 85,000
otz Yl K&
4,250,000 *407H 2= %50f% 85,000
oANEZEE THHHAIE XI&
50,000,000 * 1291 2 +50% 300,000
Olaill2 S == HEMA X3 205,000 250,000 /45,000
402 QI+ X201 & 205,000 250,000 245,000
01 QI X2 AL E A (KEHITHE) 205,000 250,000 /45,000
oit M2d8 Ad & 25 X3
17,000,000 *10ha*50% 85,000
oML TS (R R 2e]) AH
1,200, 000 *200hax50% 120,000
HOIZ0F THoHOI&AIE X 48,180 40,800 7,380
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2A: sdRSH
LI RIS R
el U= JY (CHel: &2l
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 14,454
= 33,726
402 QI2E X201 ™ 48,180 40,800 7,380
& 14,454
= 33,726
02 QIZEXH2 A 2 (01 TH &) 48,180 40,800 7,380
o 0ZO0F THoHMIZAIE XIR
80, 300,000 x60% 48,180
T 14,454
= 33,726
== A |IgHS X 100,000 255,000 A155,000
= 30,000
= 70,000
402 QI2E X201 ™ 100,000 255,000 155,000
& 30,000
= 70,000
02 QIZEXHE A 2 (01 TH ) 100,000 255,000 A155,000
oD MDIE 7E T
200,000, 0003 *50% 100,000
T 30,000
[ 70,000
AlE I MAAE SIS AFS 106,800 830,760 AT723,960
= 32,040
= 74,760
402 QI X201 ™ 106,800 830,760 AT723,960
& 32,040
= 74,760
02 QIZEXHE2AIZ 2 X (01 THE) 106,800 830,760 AT723,960
oAldlt= MAAIL BHSE AL
178,000,000 *60% 106,800
& 32,040
o 74,760
XEeielsd 4,062,274 7,339,040 A3,276,766
= 464,000
T 358,362
= 3,239,912
ZEEAH 2= 1,292,084 4,708,850 A3,416,766
= 15,000
T 171,925
= 1,105,159
ZALZE =ZotsIF ZE MYl K=& 34,650 23,800 10,850
T 7,425
= 27,225
307 QIZ2t01 A 34,650 23,800 10,850
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AN SRS
L EEMEEY
ol ZEEd™ A= EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 7,425
s 27,225
02 2IZHB A E £ 34,650 23,800 10,850
oZZHIL MY =otsIt ZHMEl X2
16,500, 0002 *37H 2 %70% 34,650
= 7,425
Ea 27,225
Noicte ZEZel XY M (A SE2te|)(HE 200,000 200,000 0
Ared)
< 130,000
Ea 70,000
201 Ler23 | 200,000 200,000 0
S 130,000
= 70,000
01 At2teltl 200,000 200,000 0
ozttt MY HA 250,000 »8002 200,000
= 130,000
Ea 70,000
oS HEA AR 28 13,760 15,250 1,490
201 fer= 3| 13,760 15,250 1,490
01 At 2t 13,760 15,250 1,490
oHel HHUA 2?3 2 WM M
426,000 52 2,130
SO HHEA HRE| BA S
70,0003 x 152 +53] 5,250
oozl HHUA Sids 488 2l
426,000 52 2,130
ol HHUA 2(3g WE
4,250,000 4,250
DU AAE 25 43,174 50,800 AT,626
201 er23 | 39,094 46,000 26,906
01 AfR22IH| 30,50 36,000 5,406
o282 Y FAIR =S42 7Y
20,0003 #4254 8,500
oECEY =X 22 W
4,250,000 45 17,000
oRZLZdl RN ARES 7Y
170,000& * 152 2,550
oRCZd HUT SEH|
8,000 3 » 1062 2,544
03 A= 8,500 10,000 21,500
oZZIL AHIEN A 2Y
2,125,000 42 8,500
202 04| 4,080 4,800 AT20
01 =LHO LI 4,080 4,800 AT20
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AN SRS
33 NGHAH=d
el RS 25 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oECEY Y= O]
20,0002 x3& »68 4,080
TN RSAE 28 108,500 1,212,000 1,103,500
201 er=23y| 18,500 0 18,500
01 AtR2t2|HI 8,500 0 8,500
osJldAEY S22 M
1,700,000& #5655 8,500
02 S52g4l 10,000 0 10,000
CZZRECANUE, SSSAHEH RAZ+H
5,000,000 294 2 10,000
207 ARl 90,000 90,000
01 H2E4H| 90,000 90,000
oxsJHlAEE O He ¥ 28 L8 &
B 90,000,000 90,000
o2 AM W 2HA XA 50,000 50,000
307 @I2t01 & 50,000 50,000
02 LB MAHEE 50,000 50,000
oz R Ad WetA XH
2,500&%20,0007H 50,000
A=TH 248 gdat 52,000 0 52,000
= 30,000
o 22,000
401 A& HIX R0 52,000 0 52,000
= 30,000
o 22,000
01 A28l 52,000 0 52,000
S HHAAF A BSHH (4, GHHE) AIEE
=t 11,000,000 *20H 2= 22,000
osiE HIHAIZ EXIAY
30,000,000 *10H 2~ 30,000
= 30,000
Mol FdAeISEXNRAUEH 223 700,000 500,000 200,000
306 EG= 700,000 500,000 200,000
01 9= 700,000 500,000 200,000
oMMEEHOl ZAHUICISSRBLYH EH3
700,000,000 * 100 A 700,000
S8 MY 28 2483 60,000 57,000 3,000
308 AXIHSOIA 60,000 57,000 3,000
18 SIS0t HAS A 60,000 57,000 3,000
CRETCANY 435 N (ZHM, oA
HHA ) 40,000, 000& *7(% 28,000
oS3 NEUH 28 24t
16,000,000& »23] 32,000
ZCZY PR (OHEA 2435 30,000 0 30,000
= 15,000
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o e

el

CFB SIS - MRAY - BES

Ofl &F2H

HMEE
Ofl &k2h

A H

4,500
10,500

HH W

10,000
5,000
1,500
3,500

10,000

01 AtR2telbl

oXlg Wil HEHHA 29
10,000,000&

HH W

10,000

10,000
5,000
1,500
3,500

10,000

307 212t01™

HH W

20,000
10,000
3,000
7,000

20,000

HoH W

20,000

20,000
10,000
3,000
7,000

20,000

HoH W

1,248,000
449,000
4,500
794,500

1,108,000

140,000
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ro
e
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Hi
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